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Remote sensing techniques make use of the vanﬁ&mmdw following radiation by the 6
sensed objects % .
a) Electric waves

c) Electromagnetic waves

b) Soundwaves
d)-Wind waves

What is the fullform of NGOs? P
a) Non Governmental Organization
¢) Nice Governmental Organization

b) Null Govemmental OammENm:o:m
d) None of these
Which one of the following has EH.C.E:E genetic diversity E\H:,Emw

a) Tea b) Hmmw c) Mango & d) Wheat

The carbon “credit is vm::: is @m:d; representing the :m_: to emit
a) One tone of Carbon D&x.&o b) 10 tonnes.of Carbon Dioxide ,
c) 5 tonnes of Carbon/Dioxide d) 15 fonnes of Carbon Dioxide \

What is the role of NGOs in natural resource management? N\
a) Creating awateness among the public on €urrent environmental issues and solution
b) Being involved-in the protection of human, :rights to a clean environment

c) Data mosmaco: on natural resources time line and history

d) Making profit from Govemment . 41.

The ptimary objective of ISO14001 s

€) An intemnationally agreed standard sets out :6 tequirements wg an m:SB:EoEw_ 42.
manage system

f) It helps organizations.to’ improve their osSB:_.:m:E_ @o_.mondm:om Enocm: more
efficient use of resources

g) It helps organization for the nmaco:oz f waste gaining ooE@mEZn advantage and 43.
trust of stakeholders 4

h) All the above.

5 5 LY i 44,
Which one of the following in not a teriewable exhaustible natural resource?

a) >€E:o animals  b) Wild E,o, . c) Soil-fertility d) Minerals

£

45.

Eco- ﬁcx_no_omw is study of .
a) Chemical interaction of o_,m.S_mE and environment
b) Physical interactions  of oﬁmmEmB and m=<:o=EmE
'¢) Thermal interaction of organism and environment
,& Biological Eﬁn_o:c: organism and environment

What is the _m, step in primary :,mm::ni plants? 47.

a) Fine screening b) Oo:nmo screening  c¢) Chlorination d) Oxidation

What are the sources of air'pollutants in the atmosphere?

a) Coal fired power station_ b) Vehicle exhaust 48.
¢) Industries Qo d) Coal

Which of the folloWwing chemicals damage the ozone layer? 49,
a) Polyvinyl or_o:am b) Chlorofluorocarbons

¢) DDT d) Hydroflurocarbons

Which of these energy source is renewable?
a) Wind b) Nuclear ¢) Coal
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Which one of the following is a great achievement of the Chipko movement?

a) More trees are planted b) Development in Himalayan region
¢) Successfully resisted deforestation d) Soil erosion gets declined

The percentage of forest cover in India is

a) 14.69% b) 15.39% ¢)19.39%

GIS stands for .
a) Geographic Information System® -
c¢) Geological Information System.

b) Generic ?mond,vwao‘: System

d) Geographic/Information Sharing
The effect of Acid Rain is

a) Reduces soil fertility ¢

c) Causing respiratory:problem

b) Increases.atmospheric temperature
d) Skin cancer

S NGO
~d) All of these

Environmental E,oﬂon:o: is reasonability of .
a) Government of Inidia
c) Individual:

Excess fluoride in drinking water is likely to cause

a) Blue babies b) Fluorosjs. c) Fever d) Cough and chill

All the following waste can be .W:&,mnnmga except . 3 ;
a) Reactive Chemical Waste b) Vaccine o
c) Mutilated parts ~ Ry d) Discarded drugs ol

Which Vaccination should be given to iowxn,a ‘who deals with'biomedical waste?
a) Hbs Ag /... b) Tetanus ¢) Rabies d) Bothaand b

Nickel is nn_mm..m.mawm.oa
a) >:o<m & b) Uﬂ.mEmv\:

c) Om_oimﬂam d) Circuit boards
Which Om the following mo_a wastes describes the 6:& ‘Municipal Solid Waste’?
a) Toxic b) Hazardous c) Non toxic d) Non-hazardous

& ok

»The blue baby syndrome is caused by the ooa,ﬁam:m:os of water due to

d) Phosphates c) Arsenic d) Nitrates

b) Sulphur
The organic Bmﬁm& of solid wasté will decompose
a) By the flow of water b) By filtration
¢) By drying.~ d) By the oxidation in presence of oxygen

The pH valuc of the acid RE#EQ is
a) 5.7 b):7:0 c) 8.5 d)7.5

The global warming may bring about the following changes in atmosphere

a) Increase in temperature of earth b) Drought

c) direct impact on human health d) All of these
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.a) 95% of earths water * 13
'¢)'97% earths water«.
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The National Disaster Management Authority (NDMA) is headed by

a) President of India b) Primé minister of India
c) Govemor of States d) Chief'Minister of States
Cloud seeding is process of

a) Adding chemical material to cloud to obtain Emn_v:m:o:
b) To get more rainfall

c) It is artificial process to get EE@: ac:sw %o:m_:

d) All the above

Which of the following has been-used to seed clouds? ;
a) Silver iodide s, B b) Silver chromate
¢) Sodium Chloride F d) Potassium.chromate

The scientist who mxvmmﬂmwaa cloud seeding firsttime
a) Isaac Newton Suﬁsnmsn Schaefer c) Rutherford

Carbon trading deals -
a) Carbon emissions
¢) Sulphur dioxide emissions

E\»‘.na rain
-d) None of these

Extensive v_mmﬁ_Em of trees to increase w.o.nmm” cover is called
a) Affotestation b) Deforrestation c) Agro forestation  d) None of these

The percentage of geographical Emm of country under mc»m,mg cover is
a) 23% E 43% c) 13%" & 33%

What is the permissiblé _.m:mo of pH for drinking water as per Indian masam_amo
a)6to9 b)6.5t07.5 ¢).6t08.5 o d) 6.5t08.5

Forest rich area.in N&dﬁ&& is found:in

a) Western Q_:;m ¢ b)Bandipur = " c) Nagarhole d) Mangalore
Major moanm of fluoride is ~ ‘ ’
a) WEQ s\mnmn b) %oo% nmmﬁm c) Ground water d) food products

The océans are the ::mmmn storage of water on, earth containing
/“b)'85% of earths water
d) 75% of earths water

Solar energy is atiideal energy source because of

a) Unlimited.supply 4 b) No air and water pollution

c) No hazardous byproducts % 3 d) All of these

The only disadvantages of hydtogen energy source

e) Takes more energy to produce hydrogen than the energy that could be obtained
from it.

f)  Causes air and water vo:::oa

g) Releases toxic byproducts

h) Hazardous'effect due to risk of leakage

Wind energy generation depends on

a) U:on,:o:m,omém:a b) Velocity of wind

¢) Humidity d) All of these
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‘OTEC’ is an energy technology that converts
a) Energy in large tides of ocean to generate nﬁonq_ﬂq
b) Energy in ocean waves to generate electricity :
c) Energy in ocean due to thermal gradient to generate electricity
d) Energy in fast moving ocean currents to mm:om:m electricity

Which of the following is not the Bmu:_mm Om ooomwmnoao -
e) Unit where in all organisms live a rmm_%% life
f) A small unit that can be self suf: icient
g) Co-existence of diverse :::mm by:mutual m&:m_EnE
h) A unit which includes all. the organisms in a given area’ ::mamossm with physical
environment to from a natural unit of stability

The factors responsible mOﬂmSEm ecosystem are c&mnnm\mogmg
a) Predators and prey b) Vegetation, herbivores and camivores
c¢) Competing species and biotic factors d) All of these

Which of it is not an example of ecosystem? _
a) Forest b) Desert “2:-C) Water d) Grassland
E.LLA canbe oxvmuama as

a) Environment and Industrial Act*
¢) Environmental Impact Assessttient

b) Environment and Impact Activities
d) Environmentally Important Activity

Earth day is held every yedr on

a) 5" June b) mu:_ Nov c) .“Nm.a.,>?.: d)-26™ Jan
Soil erosion removes surface soil which contains s
a) Organic matter b) Plant nutrients -~ -.¢) Bothaandb™ .** d) None of these

Mineral resources are 4
a) Wo:mim,c_m/ b) Zo:én:nimzm c) m@cﬁ_w &m:_.vinm d) None of these

&

Fluoride Eo:m: is an am.mncﬁ mmo:ﬁ to prevent dental caries has a permissible limit of
a) 0.5 mg/lit of water Ry " b) 1:5 mg/lit of water
c) 5:mg/lit of water ‘d)..1.0 mg/lit of water

Deforestation means
»“a) Maintenance of forest for recreation

b) Creating land for habitant of wild ife
c¢) Conversion of forest land to mm:o::::: land homes etc
d) Planting trees

Decrease of oxygen level Ewémﬁn mainly causes
a) Fluorosis b) Death of aquatic life
¢) Water purification d) All of these

% ok ok ok ok
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